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Study and read Source A and then answer the questions that follow.
Source A:  Informal Settlements   Adapted from Solutions for All Social Sciences Grade 8, pg76
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1. Define the term ‘urbanisation’.   
The increasing number of people living in urban areas /towns/cities 
                                                                                                                                                               
2. What is an informal settlement?  
An area that is not planned by city council/houses built without permission/not part of the planned housing development         
                                                                                                                                                           
3. List any two of the materials used in Source B to build houses not shacks.  
bricks         cement            zinc
                         
4. Why has urbanisation led to an increase in the number of people living in South Africa’s townships?    State five reason.        
· Increased possibilities of work
· Employment
· better education 
· better facilities
· lack of services in rural areas
· declining farming 
· poor education
· lack of employment
5. List any four of the materials used in Source B to build shacks.  
         Scrap metal         wood          plastic            cardboard
6. Name any three basic services:
          Running water    sewage    rubbish removal         
7. What sources for heat do the residents use that do not have electricity?
            Paraffin      coal
8.  Name four disadvantages living in an informal settlement people experienced during night time.
· Very cold in winter
· More crime
· Unhealthy because of the smoke
· Difficult to learn / work without electricity                                                                                                                           
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